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Questions 1 and 2
Circle the correct letters A-C
1. Scientists don't know for sure why the air and surface temperatures are rising because
A. there is too much variability
B. there isn't enough variability
C. they haven't been recording these temperatures for enough time.
D. the changes have only been noticed for 100 years.

2. New research leads scientists to believe that
A. the oceans are less complex.
B. the oceans are more complex.
C. the oceans will rise more than expexted.
D. the oceans will rise less than expected.

9> £95 2=
Questions 3 and 4

Choose TWO letters A-E.

3. The early Antarctic explores
A. travelled to the continent in winter.
B. first explored Antarctica in the 1950s.
C. opened permanent bases in Antarctica
D. were isolated by heavy snowfalls.
E. worked in basic workshops.

4. Those currently employed in Antarctica
A. work only in the summer.
B. maintain permanent all season bases.
C. are publicly acknowledged.
D. are all scientists studying the environment.
E. stay in short term holiday huts.

P9 £9523

Questions 5-7

Circle THREE letters A-F

Which three factors may contribute to rising ocean levels?
A. Thermal expansion
B. Melting ice
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C. Increased air temperature
D. Higher rainfall

E. Changes in the water table
F. Increased ocean movement
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Questions 1-6
Complete the summary about the Arctic Haze below.
Choose your answer from the box below the summary and write them in boxes 1-6 on
your answer sheet.
NB There are more words than spaces, so you will not use them all.
Example: Theories that the origins of spring, arctic haze, first seen over the ice cap in
the 1950s. came from far away were at first not 1 . This haze is formed in the
dark, arctic winter by pollution delivered to the Arctic by stroms 2 in
Europe and Asia. It is known to be a recent phenomenon as proof from 3
show it only starting to occur in the 20™ Century. The smog consists of sulphated and
carbon, the latter creating the 4 of the haze. Due to lack of research, the final
destination of the pollution is unknown but it probably ends up in the 5

and therefore into the food chain. Scientists are presently more worried

about the 6 it has on climate change.
burning terrible ice cores valid certain
originating sea destroying theories unknown
agriculture decided bird life density accepted
gases darkness air dissipating
P9 £95 =
Questions 9-11
Complete the notes below using information from passage 2.
Write NO MORE THAN THREE WORDS for each answer.
The first volcanic eruption in St. Helen.
Date: (9) coveveiiiiiiiii
Time: (10) cooviiiii e,
Place: (11) coviiniiiii,
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Option (n.) choice=alternative G 8
Effect (n.) influence=impression=efficacy=impact By
Establish (v.) set up = open=found= build up =inaugurate Giale e Sy
Attend (v.) participate=take part PSS HE
Achievement (n.) | success=victory=triumph=feat= prosperity B850 ¢ ) gl
Contribution (n.) | help=assistance =aid SS
Scholarship (n.) grant hanids ) o
Annual (adj.) yearly Yl
Employ (v.) hire=recruit O3S aladdil
Employ (v.) apply =use G S 4
Performance (n.) | execution=accomplishment =practice=implementation BN
Aboriginal (adj.) native=indigenous =y
Personal (adj.) individual BN ¢ (add
Flavor (n.) taste 5 cazha
Constantly (adj.) | permanently=Ilastingly=persistently Lasle caslie sk 4y
Keep abreast of | keep up with = catch up with =keep pace with GEHLal

Increase (v.)

augment=boost= ascend: (32 Uil ¥ # decrease = decline= (s (ials

Tempt (v.) entice GO S A g g
Arouse (v.) rouse=provoke=stir up =instigate OIS S
Contain (v.) consist of=include=encompass= =constitute 22,8y 0
Consider (v.) regard=ponder = take into account (S adaadl
Administration management e
Available (adj.) accessible o W8
Replace (v.) substitute=supplant =take place of OGS Cpdils
Conduct (v.) Run= perform= execute=commission al (S culaa
Chew (v.) masticate R
Device (n.) tool =implement =means 4l
Volatile (adj.) unstable=changeable DML ¢ i G A
Crave (v.) desire=wish GRS 50
Firm (n.) company=corporation=institute S Hd
Hue (n.) color Sy
Manufacture (v.) | produce = bear =generate S a5
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